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Xt A = XH
| . & S X} At 1,556,084, 175,048 | . & S £ XH 1,329,961,026,949
1.8 2 & & 2 &4 kb 4 237,635,347 ,839 1. OH ol XH 2 102,218,502,522
2. OH = IH i 430, 142,468,367 2.0 Bt XN 2 M =B 226,305,774 ,532
3. 7| Bt &= F M 104,244 ,895,803 3. Xt ol = 894 ,691,821,444
4. | Bt 2 & X & 82,644,779,124 4. J] B 2 & 7B M 6,489,832,774
5. D] Eb & = A 4 56,984,323, 165 5. & J1 & o AN 2 12,960,692, 294
6. & J| Y o AN Xt & 3,658,693,315 6. Bt & = & 51,281,431,959
7. M 1) At At 640,773,667,435 7. = ¢t == XH 25,396,026,827
8. 2 A == XH 10,616,944 ,597
1. di =1 s X} At 2,676,577,379,521 1. Hl L= = 8 XH 1,197,817,718, 228
1. JIEtZZ&E-ZFHIINXESE 3 SAHat 118,613, 194,660 1. Xt el = 854 852,654,752
2. | B 2 &= A & 16,495,206, 881 2.0 B 2 8 & XM 1,299,487,922
3. & = H M #H 145,682,874 ,695 3.7 B XN 2 M =B 1,314,940,000
4. & ) NS A 2,325,121,450,945 4.8 H 2 H M =2 264 ,623,110,413
5 2 S At A 21,697,632,771 5. = ct = IH 37,718,522 ,268
6. At = i NS At 10,980,869, 192 6. 0l A & o N 2 I 13,913, 165,412
7. & NS £ = A 750,123,960 7.0 B H & = 2 X 14.,313,441,972
8.J] B} H S = Ab &t 1,081,321,198 8. 2| A £ XH 9,782,395,489

9.0 A YH o N Xt & 36, 154,705,219
£ XH = A 2,527,778,745,177
At aly = Al 4,232,661,554,569

I\; =
XNl g AsS = X 1,696,428,201,760
| . & ol IN; = = 54,083,938, 500
. = & g a8 X ) =2 47 ,165,574,750
Il . Ol ol o 0= = 1,505,813,254,901
V. J| B} &£ 2 & 2l = H oH 72,112,785,113
V. Jl & X 2 g = 22,252,648 ,496
ull Xl BH Xl = 8,454 ,607,632
I\; = = Al 1,704,882,809, 392
e M & A 8 = A 4,232,661,554,569
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